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Question 1 of 28

Section A (6 x 1 mark = 6 marks) 
Read each question carefully and choose the correct answer. 
Choose the alphabet of the correct answer (A, B, C or D).   
 
The mass of the school bag is about ___________. 
 

A) 3g

B) 30g

C) 3kg

D) 30kg
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Question 2 of 28

What is the mass of the apple shown below? 
 
 

A) 100g

B) 150g

C) 250g

D) 350g

Question 3 of 28

What is the amount of money shown below? 
 

A) $1.60

B) $1.90

C) $160

D) $190
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Question 4 of 28

Ben bought 4 cans of fruit juice. 
How much did he pay altogether? 
 

A) $8

B) $6

C) $5

D) $4

Question 5 of 28

The eraser below has ______ flat surfaces. 
 

A) 6

B) 2

C) 3

D) 4
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Question 6 of 28

Which of the following shows ¼ of the figure shaded. 

A)

B)

C)

D)

Question 7 of 28

Section B (24 marks) 
 
 
Study the diagram below. 
Fill in the blank with "more' or "less" 
 
 

 
 
The pumpkin is ______________ than 4kg.

A) more

B) less
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Question 8 of 28

Compare the prices of the 3 items below. 
 

 
 
The _________ is the most expensive item.

A) sofa

B) shelf

C) dining table 

Question 9 of 28

Simpson drew a figure below with straight lines and curves. Leave ',' between the answers. 
 

 
 
The figure has ______ straight lines and _______ curves. 
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Question 10 of 28

What fraction of the figure below is shaded? 
 

 
 
________ of the figure is shaded. 

A) ⁷/₁₂
B) ⁵/₁₂
C) ⅓

D) ⅔

Question 11 of 28

Arrange the objects below in order beginning with the lightest. 
Write the letters (X, Y, Z) tn the correct order. Leave a ',' between each answer.  
 
 

 
 
Answer: __________ (lightest), ___________, ____________

Question 12 of 28

Type the amount in cents. 
 
 
$3= _______ ¢
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Question 13 of 28

Write the amount in dollars.  
 
5¢= $________

Question 14 of 28

This figure is made up of 2 semicircles and 1 rectangle 
Choose the correct figure.

A)

B)

C)
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Question 15 of 28

This figure is made up of 1 cone, 1 cylinder and 2 cuboids. 
Choose the correct figure.

A)

B)

C)

Question 16 of 28

Match the fractions that make 1 whole. 

1. [    ] ⁴/₅ A. ⁶/₁₂

2. [    ] ⁵/₁₂ B. ⁷/₁₂

C. ¹/₅

D. ¹/₄
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Question 17 of 28

Choose the greater fraction. 

A) ⅑
B) ¼

Question 18 of 28

Choose the smaller fraction. 

A) ³/₆
B) ⁴/₆

Question 19 of 28

Arrange the fractions in order. 
Begin with the greatest.  
 

A) ³/₇, ¹/₁₁, ⅐
B) ⅐, ³/₇, ¹/₁₁
C) ¹/₁₁ , ³/₇, ⅐
D) ³/₇, ⅐, ¹/₁₁ 

Question 20 of 28

1/5 + 3/5 = 

A) 1

B) 4/5

C) 4/10

D) 5/10
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Question 21 of 28

1 - 3/10 = 

A) 2/10

B) 3/9

C) 7/10

D) 1/10

Question 22 of 28

 
 
The mass of the cake is ________g heavy. 
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Question 23 of 28

350 children were at the zoo. 
105 of them were girls and the rest were boys. 
 
How many more boys than girls were there?

Question 24 of 28

350 children were at the zoo. 
105 of them were girls and the rest were boys. 
 
Complete the model. 
What are the correct numbers for A, B and C? 
 
 

A) A= 105, B= 245, C=350

B) A= 245, B= 105, C=350

C) A= 105, B= 140, C=350

D) A= 140, B= 105, C=350
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Sam had the following coins and notes in his wallet. 
 

 
 
He went to the supermarket and bought two 
He had $4 left. 
Which two items did he buy? 
 

A) milk and shampoo

B) detergent and toothbrush

C) toothbrush and milk 

D) toothbrush and shampoo
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Question 26 of 28

Section C (5 Marks) 
Write your answers in the spaces provided. 
 
Brandon had 123 marbles. After he gave away 86 marbles, he had the same number of
marbles as David. How many marbles did they have altogether in the end?

Question 27 of 28

Ziyang bought 7 handkerchiefs. 
The cost of each handkerchief was the same. 
He paid the cashier $50 and received a change of $29. 
 
 
How much did the 7 handkerchiefs cost?

Question 28 of 28

Ziyang bought 7 handkerchiefs. 
The cost of each handkerchief was the same. 
He paid the cashier $50 and received a change of $29. 
 
How much did each handkerchief cost?


